

Tabulation of BidsPage 1 of							Page 1 of 4
Contract ID: 21415			Counties:	BERGEN, ESSE UNION, WARRE	, ,	ORRIS, PASS	AIC, SUSSEX,
Letting Date: Decem	ber 10, 2020		District(s):	N4			
Call Order: 415			Project(s):	N/A			
Contract Time: 01/31/2	2 COMPLETION DA	TE	Min:	Max:			
Contract Description:	MTN TIMBER AND	UNDERWATER	, NORTH - 202	1			
Line No / Item ID Item Description		(1) IEW CONS GROUF		(2) MOUNT CO CO.,			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION:</b> 0001	BRIDGE		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	0.01000	0.01	1.00000	1.00		
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152015P	1.000	0.01000	0.01	1.00000	1.00		
POLLUTION LIABILITY INSUF	RANCE DOLL						
0003 MMG010M	1,500.000	1.00000	1,500.00	1.00000	1,500.00		
TELEPHONE SERVICE	DOLL						
0004 MMB172M	6,000.000	0.01000	60.00	0.01000	60.00		
LANE CLOSURES	HOUR						
0005 MMB173M	250,000.000	1.00000	250,000.00	1.00000	250,000.00		
SOLID WASTE DISPOSAL	DOLL						

12/10/2020



		Т	abulation of B	ids			Page 2 of 4
Contract ID: 21415			Counties:	BERGEN, ESSE UNION, WARRE		ORRIS, PASS	AIC, SUSSEX,
Letting Date: Decem	nber 10, 2020		District(s):	N4			
Call Order: 415			Project(s):	N/A			
Contract Time: 01/31/2	22 COMPLETION DA	ATE	Min:	Max:			
<b>Contract Description:</b>	MTN TIMBER AND	UNDERWATER	, NORTH - 202	1			
Line No / Item ID Item Description		(1) IEW CON GROUF		(2) MOUNT CO CO.,			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 BRIDGE		Cat Alt Set:		Cat Alt Member:			
0006 202024M	75.000	106.00000	7,950.00	125.00000	9,375.00		
DISPOSAL OF REGULATED MATERIAL	Т						
0007 MMG064M	100,000.000	1.00000	100,000.00	1.00000	100,000.00		
DISPOSAL OF REGULATED MATERIAL, HAZARDOUS	DOLL						
0008 109006M	1,000,000.000	1.00000	1,000,000.00	1.00000	1,000,000.00		
FORCE ACCOUNT	DOLL						
0009 MMG054M	2,000.000	80.39000	160,780.00	110.00000	220,000.00		
WORKER, TYPE "A"	HOUR						
0010 MMG057M	2,000.000	98.76000	197,520.00	95.00000	190,000.00		
WORKER, TYPE "B"	HOUR						

12/10/2020



			T	abulation of B	ids			Page 3 of 4
Co	ontract ID: 2141	5		Counties:	BERGEN, ESSE UNION, WARRE		IORRIS, PASS	SAIC, SUSSEX,
Let	ting Date: Dece	mber 10, 2020		District(s):	N4			
C	Call Order: 415			Project(s):	N/A			
Cont	ract Time: 01/31	/22 COMPLETION DA	ATE	Min:	Max:			
Cont	ract Description:	: MTN TIMBER AND	UNDERWATER	R, NORTH - 202	1			
	o / Item ID escription		(1) IEW CON GROUI			INSTRUCTION		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 BRIDGE		Cat Alt Set:		Cat Alt Member:				
0011	MMB092M	40.000	125.00000	5,000.00	125.00000	5,000.00		
CREW C	OORDINATOR	HOUR						
0012	MMB181M	6,000.000	674.28000	4,045,680.00	814.00000	4,884,000.00		
REPAIR	CATEGORY "A"	HOUR						
0013	MMB185M	2,000.000	320.87000	641,740.00	360.00000	720,000.00		
DIVING (	CREW	HOUR						
0014	MMG025M	85,000.000	1.00000	85,000.00	1.00000	85,000.00		
OVERTIN	ME DIFFERENTIAL	(OD) DOLL						
Section	on Totals:			\$6,495,230.02		\$7,464,937.00		
	Co	ontract Totals		\$6,495,230.02		\$7,464,937.00		
	Cost	Plus Time Totals		\$6,495,230.02		\$7,464,937.00		



		Tabulation of B	ids	Page 4 of 4
Contract ID:	21415	Counties:	BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC UNION, WARREN	, SUSSEX,
Letting Date:	December 10, 2020	District(s):	N4	
Call Order:	415	Project(s):	N/A	
Contract Time:	01/31/22 COMPLETION DATE	Min:	Max:	
	ption: MTN TIMBER AND UNDERWAT	ER, NORTH - 202	21	

	TE OF NEW JERSEY ARTMENT OF TRANSPO Phy, Governor   Sheila Oliver, Lieutenant				12/10/2020
		Vendor Ranking			<b>Page:</b> 1
Call Order:	415	Contract ID: 21415	Counties:	HUDSC PASSA	EN, ESSEX, DN, MORRIS, IC, SUSSEX, , WARREN
Letting Date:	December 10, 2020 10:00	AM <b>District(s):</b> N4			
-		Contract Time: 01/31/22 COMPLETION DATE			
Contract Desc	cription: MTN TIMBER AND	D UNDERWATER, NORTH - 2021	Project(s):	N/A	
Rank	Vendor ID/Name		Total E	Bid	Percent Of Low Bid
1	12943	IEW CONSTRUCTION GROUP, INC.	\$6,495,2	30.02	100.00%
2	M6816	MOUNT CONSTRUCTION CO., INC.	\$7,464,9	37.00	114.93%

STATE OF NEW JERSEY

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

## 12/10/2020